S

Assembly Instruction For 20326 20325

@— LOOP

/D<— CAP

[ @

- = NUT
E NIPPLE
CAP
= NUT
GLASS
LI CouPLER

CT—— SOCKET RING
CAP

g— NIPPLE
\U/_ CAP

O—— i




MI\‘XIM(@ Installation Instructions for
L I G H T,1 N G

Hanging System, Ceiling

Ceiling outlet box

White supply wire

Ribbod wire

Black supply wire

Smooth side of wire

(w/o marking)

vy Al

Screw .____.___é |
Crosshal e e —
| == )

(w marking)

7NN

Washer

Nut ———— o

Canopy ————u U

Bracket threadcd screw
Top finial nut

Top finialloop

Chain

Fixture Finial (support loop)




L INSTALLATION INSTRUCTIONS

PLEASE READ CAREFULLY AND SAVE THESE
INSTRUCTIONS, AS YOU MAY NEED THEM AT A LATER
DATE.

CAUTION - Turn off the main power at the circuit breaker before

installing the fixture, in order to prevent possible shock.

Remove the fixture and the mounting package from the box and make
sure that no parts are missing by referencing the lllustrations on the

instailation instructions.

FOR CEILING MOUNT (Fig.4&5)

1 A)Ptlace the #8-32 HEX NUTS (3.} onto the #8-32 FIXTURE MOUNTING SCREWS (4.), And
attach the FIXTURE MOUNTING SCREWS to the MOUNTING BRACKET (2.}, oruniversal
mounting plate{whichever is provided}.Do nottighten the HEX NUTS at this time. {Fig.4)

B) Ifthe fixture uses a single 1/8" IPS NIPPLE (4.) for mounting, thread the 1/8” IPS HEX NUT
(3) onto the NIPPLE. and screw the NIPPLE into the MOUNTING BRACKET (2.), Without tightening
the HEX NUT (Fig 5)

2 Pullthe power supply wires out from the QUTLET BOX (1.}, and mount the MOUNTING BRACKET
(2) or the universai mounting plate to the OUTLET BOX. using MOUNTING SCREWS (10.).

3 Attach the power supply wires to the fixture lead wires by connecting BLACK to BLACK (6.}, And
WHITE to WHITE (5.) Attach the POWER SUPPLY GROUND WIRE (7.) fromthe QUTLET BOX
(1).And the FIXTURE GROUND WIRE (8.) from the fixture to the green GROUND SCREW (8.) On
the MOUNTING BRACKET (2.). or, connect both wires together using the correct size of wire
connhectors,

4 Place the CANOPY (11.) on the fixture overthe OUTLET BOX (1.) and cnto the fixture mounting
screws [or NIPPLE(4.)].and adjust the #8-32 fixture mounting screws (or NIPPLE ) until they protrude
out from the CANOPY 1/4", Remove the CANGPY and secure the position of the fixture mounting
screws (or NIPPLE) by tightening the HEX NUT (8) (3.) against the MOUNTING BRACKET (2.).
Placethe CANCPY back onto the fixture mounting serews, (or NIPPLE). and seeure into place using
the DECORATIVE NUTS (12.) Provided

5 Screwinlightbulbs thatdo not exceed the maximum wattage specified on the
rating iabel into the sockel(s) on the fixture

INSTALLATION COMPLETED

FOR CHAIN - SUSPENDED CEILING MOUNT (Fig. 6)

t Screwthe 1/8"IPS HEXNUTS (5.} ontothe 1/8" IPS NIPPLE (4.), and then attach the end of the
NIPPLE thathasthe HEX NUT tothe MOUNTING BRACKET (2.), Do nottighlenthe HEX NUT.
Pult the SUPPLY GROUND WIRES (8.) out fromthe OUTLET BOX{t.), and attach the MOUNTING
BRACKET (2.) assemblyto the OUTLET BOX, by using the slotted holes on the MOUNTING
BRACKET and the MCUNTING SCREWS (3.} Provided

2 Thread a 1/8"IPS HEX NUT (5.), and the SCREW COLLAR LOOP (6.) onto the NIPPLE (4.)End
thatis facing down, but do not tighten the HEX NUT. Place the CANOPY (15.) overthe OUTLET
BOX(t.) andadjustthe SCREW COLLAR LOOP and NIPPLE untit the outside threads on the
SCREWCOLLAR LOOP is centered with the center hole opening or the CANOPY. Take away the
CANOQPY and tightenthe HEX NUTS downon the MOUNTING BRACKET (2.), and the SCREW
COLLARLOOP,

3 Openupthe endlinks ofthe CHAIN{17.) and attach one end ofthe CHAIN onto the FIXTURE
LOOP (18), Slide the THREADED RING (16.) from the SCREW COLLAR LOOQP (6.), and the

CANOPY (15.)onto the CHAIN inthat order. and attach the other end of the CHAIN onto the SCREW
COLLAR LOOP. Close the ends of the chain tinks.

4 Unravel thefixture's lead and ground wires and thread the iead and ground wires through every
otherlink of the CHAIN (17.), and outthrough the SCREW COLLAR LOOP (6.)and NIPPLE (4.)
assembly. Starting with the chain link attached to the FIXTURE'S LOOP (18.).

5 Attach the power supply wires tothe fixture lead wires by connecting the BLACK POWER SUPPLY
WIRE (11 ) to the SMOOTH FIXTURE LEAD WIRE ( 12.), and the WHITE POWER SUPPLY WIRE
(8 )tothe RIBBED FIXTURE LEAD WIRE (10.), Attach the SUPPLY GROUND WIRE (8.) from the
OUTLET BOX (1.), and the FIXTURE GROUND WIRE (7.) from the fixture onto the green GROUND
SCREW (14 )on the MOUNTING BRACKET (2.), Or, connect both wires together using the correct
size of WIRE CONNECTORS (13.), Place connected wires inside ofthe OUTLET BOX.

6 Slide the CANOPY (15.) and the THREADED RING (16.)of the SCREW COLLAR LOOP (6.)up
the CHAIN (17.), Place the CANOPY over the OUTLET BOX (1.). and secure inplaceby screwing
the THREADED RING onto the SCREW COLLAR LOOP.

7. Screwin light bulbs that do not exceed the maximum wattage spscified on the fixture's wattage
ratinglabel. Ibto the socket(s) on the fixture

NOTE:If the bottom opening of the lamp compariment to the fixture is too narrow to altow access
tothe light buld{s). unscres the two decorative screws at the top of the lamp compartment to aliow
rtto drop down forlamp replacement

INSTALLATION COMPLETED

1.OUTLET 80X

2 MOUNTING BRACKET

3 #8-32 HEX NUT

4. FIXTURE MOUNTING SCREW
5. WHITE TOWHITE WIRE CONNECTIGN
6 BLACK TO BLACK WIRE CONNECTION
7.POWER SUPPLY GROUND WIRE
8 FIXTURE GROUND WIRE

9. GROUND SCREW

10. MOUNTING SCREW
11.CANOPY

12.DECORATIVE NUT

Fig.4

1. OUTLETBOX

1. OUTLET BOX

2. MOUNTING BRACKET
3.MOUNTING SCREW
4.NIPPLE

5. 1/8"PS HEX NUT

5

2. MOUNTING BRACKET Fig.5
3. 187 IPSHEXNUT
4.NIPPLE
5 WHITE TO WHITE WIRE CONNECTION
6. BLACK TO BLACK WIRE CONNECTION Rt
7.POWER SUPPLY GROUND WIRE 7
8.FIXTURE GROUND WIRE &
9.GROUND SCREW |
10.MOUNTING SCREW
11.CANOPY 2.
12.DECORATIVE NUT
%
6.
8.
10.
T
=
|~
12, L ——
Fig.6
1.
|
; it
' prmerca
7. 25 I i \
8. > 3. CEILING
3. —! —~ 11
9.
13. — 13
10./ T~ 12,

6.SCREW COLLAR LOOP
7.FIXTURE GROUND WIRE
8.SUPPLY GROUND WIRE
9.WHITE SUPPLY WIRE

10 RIBBED FIXTURE LEAD WIRE
11.BLACK SUPPLY WIRE
12.SMOOTH FIXTURE LEAD WIRE
13.WIRE CONNECTOR

14 GROUND SCREW
15.CANOPY

18. THREADED RING

17.CHAJN %
18.FIXTURE LOOP




	20326-Model.pdf
	吊灯1
	无标题
	无标题

	吊灯2
	无标题
	无标题



q .
MAXIM

L 1 6 # 1T 1 & 6 Agsembly Instruction for5824 5835 5845 5846






		无标题

		无标题




q .
MAXIM

L 1 6 # 1T 1 & 6 Agsembly Instruction for5824 5835 5845 5846







MI\‘XIM(@ Installation Instructions for
L I G H T,1 N G

Hanging System, Ceiling

Ceiling outlet box

White supply wire

Ribbod wire

Black supply wire

Smooth side of wire

(w/o marking)

vy Al

Screw .____.___é |
Crosshal e e —
| == )

(w marking)

7NN

Washer

Nut ———— o

Canopy ————u U

Bracket threadcd screw
Top finial nut

Top finialloop

Chain

Fixture Finial (support loop)






		无标题

		无标题

		无标题



